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Cos(g —x) = sin(x)
Cos (g +x) = —sin(x)
sin(g —Xx) = cos(x)
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sin(i + x) = cos(x)
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sin(—x)

cos(—x) = cos(x)

—sin(x)

Cos(a+ b)= cos(a)cos(b)-sin(a)sin(b)
Cos(a-b)= cos(a)cos(b)+ sin(a)sin(b)
Sin(a+ b)= sin(a)cos(b)+ sin(b)cos(a)

’ Sin(a-b)=sin(a)cos(b)-sin(b)cos(a)
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Cos(a).cos(b) = % [cos(a+b) +cos(a—b)] |
sin(a).sin(b) = % [cos(a—b) —cos(a+Db)] |

Sin(a).cos(b) = % [sin(a+b) +sin(a—b)] |
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sin(m — x) = sin(x)

sin(m + x) = —sin(x)

Classe: 3 M
( cos(m — x) = —cos(x)
cos(m + x) = —cos(x)
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Sin(2x)= 2sin(x)cos(x)

Cos(2x)= cos?(x)-sin?(x)= 2cos?(x)-1= 1-2sin?(x)

cos% ()= 1+mzs(2x) et sinz (x) = 1—mzs(2x)
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acos(ax) + bsin(ax) = rcos(ax — @)

r =+va? +b? et cos(g) =§,sin(<p) =l—:
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